7.4 #25-28, 33,34,59
7.5 #1-3, 9-11, 43,45,47

1. Using am we see that the equation

sinx + sm X+ cos x =11s equivalent to the basic equation
Snx + | = |

only solve for 0 <0 <2rx

Smy = O whose solutions are x = ]O, ’tT?
)

Use Pythagorean and Double Angle

identities to rewrite the given
equations in 7.5, then factor and solve.




only solve for0 <0 <2r

2. Using a Double Angle identity we see that the equation

e v

sinx @ 0 is equivalent to the equation$/vx+ Z £ SINX ch>?

e

Factoring, we see that solving this equation is equivalent to
solving two basic equations S\nx = and [+ Lcosx =0

\iglm( < |‘I‘ZC05X>:Q

Use Pythagorean and Double Angle

identities to rewrite the given
equations in 7.5, then factor and solve.




7.4 #25-28, 33,34,59

<
7.5 #1-3, 9-11, 43,45,47 only solve for0 <0 <2rx

&2 @ +sind=1 *Pythagorean Identities:
- sin?6 + cos?0 = 1
<l J —SinN 6\) 4"5!‘\/\6': ( (éCDSLG:(_S’IV]ZG

i&_ — AN t31nD (=0

— 284D +31Q 4 \-\:Q malFiply lo_j 1
ARIM L@*SM@ ~ [ = O now fachv
(X Y= O (FoTL)



7.4 #25-28, 33,34,59
7.5 #1-3, 9-11, 43,4547

CHECK EVEN [piresci

i the mterval: 0< 68 =2xn

(INO general solutions: vou don’t
ANDODD =&
A N SW E RS CHECK 7.4 #25-28. 33. 34:
(odds and evens are included)

In =&
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#59-> use degrees
(check answers in book)

CHECK 7.5 #1-3, 9-11:
(odds and evens are included)

0 =n

i
4

#43 45 47 check answers in book



